
🥩The following muscle innervated by two nerves.
Select one:
a. Teres major
b. Serratus anterior
c. Subscapularis
d. Trapezius**
e. Rhomboid major

🥩Damage to the medial cord of the brachial! plexus would most likely result in weakness
of which of the following muscles?
Seleci one:
a. Coracobrachialis
b. Extensor carpi radialis
c. Latissimus dorsi
d. Pectoralis major**
e. Supraspinalus

🥩Damage to the posterior cord of the brachial plexus would most likely result in
weakness of which of the following muscles?
Select one:
a. Coracobrachialis
b. Flexor carpi radialis
c. Latissimus dorsi**
d. Pectoralis major
e. Supraspinatus
🦴The bones of the HAND can be divided into three groups.
Select one:
a. Tarsal. Metatarsal. and phalanges
b. humerus. ulna. and radius
c. Carpal. metacarpal. and phalanges**
d. humerus. ulna. Carpal
e. carpal. radius. Ulna

🥩Choose the odd muscle that does not belong to scapular group:
Select one:
a. Serratus anterior
b. Rhomboid major
c. Biceps brachii
d. Levator scapulae
e. Subclavius**

🦴Regarding to the Scapula, choose the most appropriate statement:
Select one:
a . Flat Bone.**
b. Supraspinous fossa in the anterior surface.
c. In the lateral end of its spine is the coronoid process.
d. The suprascapular notch on the spine.
e. The superomedial angle articulate with the shoulder joint

🦴🥩Which statement of the following regarding the muscles action is true?
Select one:
a. The spreading the fingers and toes is adduction.
b. Pronation is moving forearm so the palm facing anteriorly.



c. Supination is the movement of the hand so that the palm faces in media! direction.
d. Pronation is the functional position.
e. Flexion means decreasing the joint angle.**

🦴🥩Select the Correct statement regarding the terms of relationship and Comparison:
Select one:
a. The terms proximal and distal denote levels relatively deep with reference to the
surface of the body.
b. The terms internal and externa! denote the relative distances of structures from the head
of the body.
c. The dorsal surface of the human is the posterior surface.**
d. The dorsal surface of the hand is the palmar surface.
e. The term ipsilateral refers to opposite sides of the body.

🦴The surgical neck of the huniertes ts:
Sellect one:
a. True anatomical neck
b. Same as the tubercte
c. Important landmark for the axillary nerve**
d. Common origin for the flexor musctes
e. Impartant landmark for the axillary artery

🦴How many bones are there in the average person's body BASED ON SNELL'S
TABLE?
Select one:
a. 33
b. 206**
c. .213
d. 239
e. 216

🦴The Dorsal scapular nerve contains nerve roots:
Select one:
a, C5.**
b. C4.
c. C3.
d. C6,
e.c7

🦴The humerus articulates With the ulna at elbow joint by a:
Select one:
a. Fibrous articulation.
b. Cartilaginous articulation.
c. Plane synovial articulation.
d. Ball and socket synovial articulation.
e. Hinge synovial articulation.**

🦴🥩: والعضلاتالعظامعناسئله
🦴: العظامعناسئله
🥩: العضلاتعناسئله


